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Showing ROI builds directly on the impact calculated in Tool 48-1. Return on investment (ROI) is a concept borrowed from finance and applied to learning by Jack Phillips in his 1983 book as a way to bring the benefit from a program together with its cost to determine if the investment was worthwhile. ROI is not by itself a measure of impact; rather it shows whether the impact was worth achieving. In this regard, it is the perfect measure to use at the end of your impact story. First, you demonstrate alignment to show the right knowledge gain is being undertaken. Next you share results using a compelling chain of evidence or comparison to a baseline or the past. Then you calculate the isolated impact, which quantifies the results. Last, you show the ROI of the training to demonstrate that the benefit exceeded the cost. 
The ROI formula is simple: net benefit divided by program cost. Net benefit is the gross benefit of learning less the program cost, where gross benefit is the bottom-line dollar value of the isolated impact of training from the last approach. In other words, gross benefit is the change in net income or surplus from a talent initiative. The good news is that you don’t need to calculate gross benefit. Just ask the goal owner or accounting how net income will change because of the isolated impact of learning. For example, ask the SVP of sales or accounting how much net income will increase if sales increase 3 percent. Ask the head of manufacturing, safety, or operations what the cost savings will be from a 5 percent reduction in injuries. Someone in your organizations will have the answer. 
To find net benefit simply subtract the cost of the initiative. The program or initiative cost should be all encompassing, including all the costs associated with the initiative plus the opportunity cost of the participant’s time. The cost of the program’s development, delivery, and management should be calculated as the number of hours required, multiplied by the fully burdened labor and related rate, which includes overhead and general and administrative costs. If you purchase the learning program or pay for outside facilitators, add those costs to your internal costs. Also, add any direct expenses like room rental, materials, and travel costs. The opportunity cost of the participant’s time is calculated as their average labor and related rate (not fully burdened) multiplied by the number of hours away from their desk while participating in the initiative (including class time and travel time).
An example will illustrate the calculations:
Isolated impact: 25 percent reduction in injuries (This was calculated in Tool 48-1, using one of the five methods.)
Gross benefit: $250,000 (This is the value of a 25 percent reduction in injuries from manufacturing or safety)
Program cost: $150,000 ($90,000 in development, delivery, and management costs + $60,000 in opportunity costs for the participant’s time)
Net benefit = Gross benefit – Program cost 
= $250,000 – $150,000 
= $100,000
ROI = Net benefit ÷ Program cost 
= $100,000 ÷ $150,000 
= 67%
In this example, the net benefit is $100,000, meaning that after all the costs associated with the program have been subtracted, there is still a $100,000 increase to the bottom line. The ROI is 67 percent, which means that $67 are returned for every $100 invested in this training. This would be an excellent return and is not unusual for learning programs, which often produce ROIs of 30 percent and higher.
Net benefit and ROI both answer the question of whether the training was worth doing. A positive net benefit or a positive ROI shows that the impact was worth the effort required to produce it. In the real world, given the estimates required to determine impact and cost, a higher ROI is desirable, say above 10 percent. For example, a program with a calculated net benefit of $600 and a ROI of 2 percent, might, if true impact were known, show a net benefit of $300 and a ROI of -1 percent. So, it’s best to avoid an ROI near zero.
Showing ROI is important because, without this final step, we don’t know if the program was worth doing. Although this discussion was geared toward training programs, the concept can be applied to any talent initiative. The formula is the same, with net benefit in the numerator and total cost of the initiative in the denominator. Typically, the hardest part of getting an ROI is determining the isolated impact of the initiative. However, there is usually someone in the organization who can assign a dollar value to it (gross benefit) and the cost estimate isn’t usually difficult to come up with.
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